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[int]		 2x/ |G..C.|G    | /

		            G(avsl)                               [int]
[v1]		  With the speed like a bullet from a shooting gun
		               G(avsl)                     [int]
		  It takes the world year to circle the sun
	 C	 
		  One year of our lifes
		                              [int}
		  enought time to live and die
	 D 
		  The whole world outside
	 C	                       [int]
		  is going on a slow ride

[v2]		  The milky way is on its way
		  From a Big Bang far away
		  And with the speed of light
		  we will travel to the end of time
		  The whole world outside
		  is going on a slow ride

[br]			   2x |G    |    |C    |    |
			      |D    |    |G..C.|G   |
			   3x |G..C.|G   |

[v3]		  Almost four billion years,
	 	 since life on earth first appered
		  Species has come and gone,
		  we are not alone!
		  2x/ The whole world outside
		  is going on a slow ride /

[out]		 4x/ |G..C.|G    | /
		      Slow ride...        


